TCE Il exam

Duration: 90 minutes

Exercise-l-

0.5 POUR CHAQUE BONNE REPONSE

-Fill the dotted spaces with the relevant words .Here below, a list of 20 words; half of them are not
correct.

"Remplissez les espaces en pointillés avec le mot pertinent .Voici ci-dessous, une liste de 20 mots dont la moitié n’est pas a
considérer "

The list:

Not only are fruits essential in Angiosperms - They are also utilized as significant food

resources. Many - fruits like - and apples are composed of three layers where - is
often soft and juicy .Dry fruits like - and - are divided into two main groups indehiscent

and dehiscent. Under appropriate environmental conditions the - germinates and the structure
which emerges from it enables the development of a small plant usually called -.Soon after, the
tissues of this plant emerge from underground and are exposed to - The plant develops mainly in

its leaves _ and begins to photosynthesize.

Exercise-2----

1 POUR CHAQUE BONNE REPONSE

LES BONNES REPONSES SONT TOUTES TRUE

-Tell us for each statement below, if it is true or false?

"Dites-nous, pour chaque énoncé ci-dessous, s'il est vrai ou faux? "

Cochez la bonne réponse O

1-The main food of Penguins consists of fish and krill...................... - .......... False O



2-The Penguins live only in the southern pole..........c..cccoovniiiiinnin, True O .......... False O

3-The Penguin female lays only 0Ne e8g ......cccvvvvvvviriieiviiiiieininenn, True O .......... False O
4-The southern pole is also called Antarctica..........ccoceeveviiieniininnenens True O .......... False O
5-The Penguins are Dirds......cccccveeeiiecieee it True O ........ False O

Exercise-3 5 POINTS

Read the short text and reply to the questions below.

In order for animals to survive, they need to be able to adapt. In perfect world animals would not need

to adapt. However, with constant changes to the environment, food chain and climate, animals must
adapt or face extinction. An adaptation is a trait that makes an animal suited to its environment .It can
be a behavioral or a structural trait. For example, moving in large groups is a behavioral adaptation; it
helps protect the members of the group. The thick fur coat of an arctic fox is a structural adaptation. It
helps protect it against the cold weather.
A chameleon can change its color according to its surroundings. Not only does it help protect the
chameleon, it also helps it survive in another way. Because it blends in so well with its surroundings,
insects are less likely to see or notice it. The penguins live in a place where it is extremely cold and the
water temperatures never rise above freezing .They are flightless, but they are wonderful swimmers.
Penguins make their nests side by side and after the chicks are born, they all huddle together to stay
warm.

-Questions:

1-Put a general title to the short text. 1 POINTS

1 POUR UN TITRE COURT ET COHERENT (note compléte)

0.5 POUR UN TITRE COHERENT MAIS ASSEZ LONG (plus de 5 mots)

0.25 POUR UN TITRE COHERENT AVEC UNE DES DEUX IDEES PRINCIPALES DU TEXTE (exemples: adaptation,animals
, behaviour)

0.25 -les titres moins signifiants :

Quand on est moins précis par exemple : le mot animal est remplacé par pingouins

- les meilleurs propositions :

-Animal adaptations

-Animals and adaptations
-Animal behaviours

-Behavioral adaptation of animals

2-In the text, throughout the underlined words, the author explains a very known type of adaptation.
Give in just one word its name by filling the relevant space in the table below. . 2 POINTS



0.5 POUR UN MOT COHERENT MAIS SANS FAUTE D ORTHOGRAPHE (exemples: Camouflage, Bear )

0.25 POUR UN MOT COHERENT MAIS MAL ORTHOGRAPHIE (exemples: Camoflage, Beer )

"Dans le texte, a travers les mots soulignés, I'auteur explique un type trés connu d’adaptation. Donnez le terme adéquat en
remplissant I'espace correspondant dans le tableau ci-dessous. Donnez d'autres examples au niveau des autres cases"

Example of behavioral or structural adaptation Animal example

Chameleon

Hibernation _

AUTRES REPONSES POSSIBLES

Migration Zebra or canada geese

3-Why Penguins live in large communities?-
0.5- 1 UNIQUEMENT POUR LA QUALITE D' EXPRESSION

0.5 POUR CHAQUE ARGUMENT VALABLE OU DES MOTS CLEFS COMME : PROTECTION ,DEFENSE
,WARM...DOIVENT Y FIGURER

The complete explanation is not in the text. Remember what we have explained in class !

"Pourquoi les pingouins vivent t-ils en grandes communautés ? L'explication compléte n'est pas dans le texte. Rappelez-vous, ce
que nous avons expliqué en classe a travers une projection vidéo."




Exercise-

0.5 POUR CHAQUE MOT JUSTE
0.25 POUR UN MOT MAL ORTHOGRAPHIE MAIS PHONETIQUEMENT JUSTE

-Caption the illustrations below.

"Légendez les illustrations ci-dessous."

Ananas Poires
Pommes
Bananes

Plant parts




